1 P murtolukujen lisdys (oikea murto -osa) (virheellinen
Y ‘&’ ‘ “-Q murto -0sa)

Nimi: Paivamaara: Pisteet:
6 7 4 6
— 4+ - = — 4 — =
4 9 8 9
4 7 7 1
-+ - = — 4 — =
7 6 6 7
3 4 31
4 9 6 6
7 3 4 1
6 9 7 4
5 3 4 1
9 7 5 2
4 6 7 3
5 5 3 2
3 7 3 1
Z 4+ - = — 4 - =
6 6 5 3
1 4 5 3
4+ - = — 4+ - =
9 5 4 9
6 6 5 7
— 4+ — = — 4 - =
4 9 4 6
1 2 1 4
—_ 4+ == — 4 - =
5 3 6 3
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' Y ‘ié. ‘ i murtolukujen lisdys (oikea murto -osa) (virheellinen
£|3 murto -0sa)

Nimi: Paivamaara: Pisteet: __
6 7 41 5 4 6 7 1
e B
4 9 18 18 8 9 6 6
4 7 T3 31 7 1 55 13
S+l=o 4=t
76 4 & 6 7 4 &
3 4 43 7 3.1 2
B “4o==
4 9 36 36 6 6 3
7 3 3 1 4 1 23
S+ =I=1= S 4o =
6 9 2 2 7 4 28
5 3 62 4 1 13
Ty == 4+ ="=1=
9 7 3 5 2 10 10
4.6, 7,385
5 5 3 2 6 6
3 7 5 2 3 1 14
B = i =
6 6 3 3 5 3 15
1 4 41 5 3 19 7
iy =_ e e
9 5 45 4 9 12 12
6 6 13 1 5 7 29 5
o= =)o g s
4 9 6 6 4 6 12 12
1 2 13 1 4 3 1
4= =l =1-
5 3 15 6 3 2 2
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